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e Please check that this question paper contains 25 printed pages +1 Map.

e Please check that this question paper contains 37 questions.
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59 J97-97 § 37 ¥97 & | @At yv7 erfdard & 1
J97-97 F: GUSI § [G9157 3 - @UE &, &, 7, ¥, & TF I/

GUE & — o7 &I 1 8 20 Fglascdid JHR & J97 & | 4% F97 1 3% #1 & |

GUE & — 97 G&I7 21 @ 24 317 TG-FHIT JHR & 97 & | J9% J97 2 371 &1
& | 37 J91 &7 IR 40 5G] G 3719 T&7T fer@r ST FMieq |

GUE T — ¥ G&IT 25 & 29 TY-IFIT JBR & 97 & | F9F Jo7 3 3H] 71 & |
37 51 BT 3T 60 J5g] & 314 73T forar ST =nfsy |

EUE T — Y97 &I 30 & 33 FH-I70T IJHR & J97 & | e Y97 5 3hl HT & |
57 Y991 7 3T 120 eg] & 3¢ &7 Io7@T ST =ey |

GUE & — Y97 &7 34 G 36 FG-STEIRT/ Fla-3meila 397 8 578 7 37-397 & |
Jcdb Jo74 3] FT & |

QUE o — 97 G&IT 37 Il HIVA-3TERT I97 & foad g1 91 & - 37 (a) 3fasra
(2 37%) 3 37(b) — YT (3 37F) | 39 Jo7 & P75 3FH & |

$T% 3laIs, €77 19 giccanad TNl & 178 Biet @97 Fied 377G e

Tl @ T W T I T 1597 T & | §7 ) & I daer gheantaa wiandT &
7@ |

«us <h
(Sgferemedta o) (20x1=20)
1815 7 ‘TorT webe shi BT feforfad ® & fopae i oft 2 1
(A) <THER = @
(B) I T
(©) fafaw-yem
(D) At a1 foremmeh
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(iv)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1

(A)  Chancellor Duke Metternich
(B) Ernst Renan

(C) William I

(D)  Otto von Bismarck

32/5/1-15 Page 3 of 27 P.T.O.




NN\

2. frafafea & ¥ ®H-a1 o6 qdff 9Ra ® 3I9o0 qo1 ©H A (foes &) 6
fafay smarett & o feemsti & e ?

A) Teg wH
(B) 39TS 98
(C) diged
(D) 9 ad

3. fTrafafga weTsti # Fehits A 1 afem Hifve AR a8 fawed &1
T HIT |

I. gas U Rgarsa afuafa =1 a1

II. SfATare ST gcdTehs

[II. SRS Icamig
IV. 3TEgIN 3Tl <hl ST99 ol
f&reveu

(A) LILIIL IV
B) IL I IV,III
(©) LIL IV, III
(D) IIL IV, 1L I

4. T&F TIF &1 qfd & foTe 981 foshed 1 ==A i |

19 T & ANY H, SR Flgde! IER H G Hl |
‘SR e T ST T |

(A)  ufedr T

(B) wigel ¢l

(C) e firg

(D)  hoATETRHT gat
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2. Which one of the following religions emerged from eastern India and

spread in several directions through intersecting points on the °‘silk

routes’ ?
(A) Hinduism
(B)  Christianity
(C) Buddhism
(D) Jainism
3. Arrange the following events in chronological order and choose the

correct option.

I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LILIIL IV

(B) ILI,IV,III

©) LI IV,III

(b)y IIL IV,II I

4, Choose the correct option to fill in the blank.

In the beginning of the 19t century, a girl married in a very

orthodox household wrote an autobiography called ‘Amar Jiban’.

(A)
(B)
()
(D)

32/5/1-15

Pandita Ramabai

Rashsundari Devi
Tarabai Shinde
Kailashbashini Debi
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5.

Y I 1 T &9 119 hifve 3 98t fasmeq w1 =—A hifsu |

&y I &y Il
(T 3EIT) (7%)
i. BT a. T I
ii. m wiee b. 3TEH
i, HoreH c. IWES
iv. EILEUI d. ufvam s
forerea :

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

‘Tt fgu o= yomell’ Fefiiiad § 9 ford =9 1 J=ifra g 2

(A) dfHeTg (B) ufvem &

(C) HuTe™ (D) ffesm

ffafigd § @ SH-A1 YRA 1 Tad 981 Fid3e. IdeHh TS 8 ?
(A) HERTSE (B) TNES

(C)  TSId (D) st

= A w19 I fer T 3 | A1 w1 Ufeu 3R & faecy 1 =M

T |

FYT] : T B SN ARhdIAD TILATST o foTw 3ieh B |

Fo7 1 : 399 TahEm ariores awgl o o9 Zohta shi 9EAT i A S H
TErdT fierd 7 |

forerea :

(A) HUF 198 2, Afchd II Tid 2 |

(B) %I I Td 3, AAferd 1T 981 3 |

(C) YA 19 I1QHI Fal & 3 I, T 1 H&l e ¢ |

(D) I 19 II gHI |8l & itk 11, I 3hi Hal =& 787 7 |
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5. Match Column I with Column II and choose the correct option. 1

Column I Column II
(National Park) (State)

i. Kaziranga a. Madhya Pradesh

ii.  Jim Corbett b. Assam

iii.  Sunderbans c. Uttarakhand

iv. Bandhavgarh d. West Bengal

Options:

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha

7. Which one of the following is the highest ‘bauxite’ producing state of
India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha

8. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : It helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
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9. 9RA H fourh ARl & dcar ¥ Halyd q9d IUgH foehed &1 =@ i |

(A)
(B)
(©)
(D)

YR qiaerT 7 fagr

favar & g

o = — i g ais

T A - gfowm I i
EEECIREl - o 9 "R
bl S faw - e wied 9 SR

10. WA ogW § 9y-Fuga 8 seiyd SEfafed seus o d9iey 3R |8

fdereg =1 == i |

L.
II.

III.

AT UsT 9 ford) ot g9 ) Torehia o o7fierr =181 fomam 2

gfga gt arient ot et ff 99 &1 Io @ IR =R w1 A
TS < & |

giag™ od & YR W fort IH a1t Tordt @ o Hewa sl duniaes
N T 2 |

IV. Ig «ifties agern § gurar gfead e & foe smam st enfides amet
T g < T AMRHR a1 B |

forerea :

(A) wHhaa L1914 2 |

(B) had [ IId VTS B |

(C) whaa L II9 IVES 2 |

(D) had IL 119 IVES 2 |

11. 9Rd % A AN H ToHIdeh gall o GUR o o eafafegd & @ sF-a

THaH IS ?
(A) TA-ded Sl Ushd o Toru "faam gsnya fomam |
(B) 3IEearl skl 9Y-UF o g STk HIHAT h1 ST AT g1 |

()
(D)

32/5/1-15

IAEERT =l I9Y-TF o GRI 79T Fufd ST S ST JAT |
al gl I TS FAE BT 3R AR e 9T tfard s fea |
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9. Choose the most appropriate option regarding the division of legislative
rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1
I. The Indian State has not adopted any religion as its official
religion.
I1. The Constitution gives freedom to all the citizens to practice and
propagate any religion.
III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.
IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.
Options:
(A)  Only I, IT and III are correct.
(B) Onlyl, II and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.
11. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A)
(B)

()
(D)

32/5/1-15

Amended the Constitution to prevent defection.

Candidates will have to give the details of criminal cases on
affidavit.

Candidates will have to give details of their property on affidavit.

It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.

Page 9 of 27 P.T.O.




12. = @ %ua fau mu g | I firenud (A) 3R HRW (R) @ | SF1 el i dfeu
3R Gl foeheg =1 =9 hIfSe |
B (A) : WRA H TEEATT SHEAT hl HIART 2 |

FRU(R) : 98 WRd & g gmiiies 3 dimferer foasmareti o gie g d
Tq g |

forerea :

(A (A) 3R (R) gHI T& & 3R (R), (A) H & =& 7 |

(B) (A) 3R (R) gH1 T& 7, AR (R), (A) T T =amen 757 2 |
(C) (A) &l g, Ak (R) TeTd 2 |

(D) (A) T &, AT (R) 981 2 |

13. YRA % AHAYM o IIHR FHHfAIRad § & -1 Toh TG W9 8 2

(A)  Aegd
(B)  TedTelt
(C) =Tt
D) TSI

14, = g ®H 19 11 fGC T & | QA1 Al I UG 3R G8l foheq &1 <=M

T |

FI7]: WAfgand 39 faftd =gaqmE § |fshy &9 4 IeH ¢ Tl 8 TR e,
?ﬁm,a@a,uﬁwamﬁwﬁmaﬁﬁrwﬁ{ﬁwﬁﬁmﬁ

|

FYTII : s faumm &t ToHifae  Afveate o ToHifas Maed =
HTeSI-eh Sfta H HfgaATeTl shl fHepT hl IGH H F&TIdT hl 7 |

farepeu .

(A) %A1 HS 7, afehd 11 7@ 2 |

(B) YA I 7@id ®, <ifehd I1 §1T & |

(C) I 19 IIgHI Hal & 3T 11, 1 h! T8 =1 ¢ |

(D) ¥ 19 11 gFT T2l &, Al 11, I 1 Tdt =amen 77 2 |

32/5/1-15 Page 10 of 27




NN\

12. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Multi-party system has been adopted in India.
Reason (R) : It is capable of accommodating all the social and
geographical differences in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
13. Which one of the following is a scheduled language as per the
Constitution of India ? 1
(A)  Bhojpuri
(B) Garhwali
(C) Nepali
(D) Rajasthani
14. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I : Women are now actively contributing to various

professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political

mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
32/5/1-15 Page 11 of 27 P.T.O.
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15. T BN 8 Tia § T FhEM T1d o HIEHR 8§ I AIHH o419 ¢ W R Al @,
Tifeh 98 30 9198 b § TeIT T graT | el IR 98 S d B S gl W
O A 8 | 98 HR-ER HHTHR FEHN H sk g1 sh! k1 Fehld 8 |
wwwﬁéﬁﬁiﬁwwmwaﬁqﬁmﬁiﬁaﬁﬁﬁﬁw%?
(A) ®|°h Teh HghNI UG °h Kqﬁ SR HIAT 7 |
(B) % FRUI-IW <! feufa =1 gloars=e s 2 |
(C) S a&gatl 1 A AGH-YgH FHfTad it B |

(D) S fpE™ A1 I & F=1dT 2 |

16. feu v fum <t 2fgw | fom d fovan SR aren v f=faRea & @ forg snfdes
&eh o 3TaTTd AT & ?

(A) e | o B) ﬁ?ﬂw
(C) qdreh (D) =g

Fig: [[EcIRad 397 FaT gieeaniaa qhemiaal & 1o/ 397 G116 & &7 W E |
‘b1 <t Well’ rdferaeen & fmfafaa & @ fopa & & faia 3Tt @ 2
(A)  wTftes (B) fgdio
(C) qarreh (D) <qeh

17. 9 @ %y for MU E | A Afirepud (A) 3N SR (R) & | SFT UHl s gfey
IR T faerew &1 ==[ HifT |
WW(A):%[ﬁmﬁa‘qwﬁaﬂwéaﬁqmﬂﬂaﬁWT&maﬁmﬁﬁ

|

HR (R) : gﬁ Y ol o o (7T momeR 3R o=y SwrsTal s S ggdt

f&reweu

(A) (A)aﬂUR)aﬁaﬁ%aﬁx(R) (A) hl Tl TR B |
(B) (A) 3R (R) ZHI &l &, AT (R), (A) 1 Hel =@ 757 ¢ |
C) (AT E, A Q’|I°h-1 (R) TTeTd & |

(D) (A) TeId &, A (R) 981 2 |
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15.

16.

Note :

17.

32/5/1-15 Page 13 of 27 P.T.O.

In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ?

(A) The bank acts as a cooperative lender.

(B) The bank facilitates a debt-trap situation.

(C)  The bank ensures a fair exchange of goods.
(D) The bank saves the farmer from debt-trap.

Look at the given picture. The work being done in the picture comes
under which one of the following economic sectors ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

‘Floriculture’ comes under which one of the following sectors of the

economy ?
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option.

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.




18. fr=fafga ¥ @ 9w Sederwor’ # i @ 2
(A) IR Tl i SGHT

(B) SR AU hl BT

(C) AR GRI GEY &% W 0T ot
(D) aEg3l W AT, f0a e Ser

19. T=fafga 4 9 frm g 1 wiRd o TR H Reedl wdilees & ?

(A) gt
(B) gtk
(C) qdreh
(D) <qIH

20. fCUu TU A W ¥ RO % UG AAi B gHC AR FEl fowhed w1 =TEA

HIRIT |

I &

II. HEHR

III. |&hRl FHfar
IV. =i

faeeu :

(A) I 19 II
(B) had 1149 III
(C) had 19 III
(D) had 19 IV
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18. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade
(D) Increasing import, export duty on goods
19. Which one of the following sectors has the highest share in employment
in India ? 1
(A)  Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary
20. Select the formal sources of credit from the given sources and choose the
correct option. 1
I. Bank
I1. Moneylender
III. Cooperatives
IV. Businessman
Options:
(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D) OnlyIand]IV
32/5/1-15 Page 15 of 27 P.T.O.




21.

22,

23.

24.

25.

26.

27.

28.

29.

Qs &
(et wg-Sw{E ) (4x2=8)
dicTgdl Sdisel 8 Y8 WRAIT SUHSIE <hl SAIINeh Aedeh o JdIg H heold
feufa =1 off 2 = i | 2
(a) ‘@S IR AT 99T HEENG SgEl § fUed 8 17 39en afgd 39
I hl AR hifvT | 2
AAAT

(b) “uagrEriE a1 o faema wen A @it ue S 2@ 17 3w |fga 39
I hl =Rt hifv | 2
WA Gfaea™ § foaehgiontur shl STTa9aehdT ST Tl shl TS ? TS <hIfTT | 2

IYSToRT0T I WG A W YT Td FaR IRl § forehtd T &I hileh hd
@1 ? T hifSu | 2

Qus T

(g3 wEA) (5x3=15)

(a) TfaT TEF AGREH H Higarsdi i ikl i TN Algd &

HifT | 3
AAAT

(b) Sl AT & SR URAR olieh hermatl 3 Tdiehl 4 Tsedre & fo=m

! TorE TR HeTeM TR ? TR0 Higd SAT& hivY | 3
RATT Y TR A9t o fohegl diF THTEi 1 UM 1T | 3
A | TSI ol o ue foheal o= gtfoRn o1 forgetwor Hifsm | 3
W <hl TETcHeh IMEA FaT shl foheal a9 famivarstt =1 guH <hifse | 3
IAAE THT B groiiIar <1 fos faema & fou sifsamd =1 59 w2 2 et
giga same IS | 3
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B

(Very Short Answer Type Questions) (4x2=8)

Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

(a)  “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2

OR

(b) “The ocean waters contain vast quantities of minerals.” Explain

the statement with example. 2

Why was the need for decentralisation recognized in the Indian
Constitution ? Explain. 2

How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)

(a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with

examples. 3
Describe any three impacts of globalisation on Indian agriculture. 3
Analyse any three challenges faced by political parties in India. 3
Describe any three characteristics of the Indian federal system. 3

Why has the issue of sustainability become essential for development in
present times ? Explain with example. 3

32/5/1-15 Page 17 of 27 P.T.O.




30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Lus 9
(Srdt-zwhT weA) (4x5=20)
SATTal TURTSY o Whioh(Ul H SYEY HicEHT shi YfHep 1 Hodrehd
i | 5
AT
ST oh TEhTehtUl | 3TTel Ji TorEdTeh ehl Y[HRT h1 HeAThA hilvTT | 5
“fafamior s o & o i e Twe 9 8 17 39 e %l =T
3allgu | 5
AT
“iY Td ITNT THGE b [k & |7 $E HAA hl ~AHTI 38U | 5
JTEAHA SR TS I HHA i H ARhAA ohl H[Weh! hi IGEWN Higd
ST HIfT | 5
AT
Alehdd fohT JohR Ush 9Y I 8 ? 3ST8L0N Higd I shifoT | 5
anifefer Tfafafert & Gesi-es wa s &5 | 37aT Tose hifay | 5
AT
aTfden Tifafafert & Snfed wa SETSd & H T T hifaT | 5
Qus &
(hE-_STTeTia /|a - AT 99 ) (3x4=12)

fau T &t = ufey 3R 38k i QU MU gl % IR AT

BUTS WA AT

SFY TEeE fEaehl 9 1780 ¥ 777 ol A Ush WTdligsh UiHehl ohl

gt & o, e gg i 3 ufoarfya forn, g fopelt o foiw 3uersy

STETRIh UEehl, ST fopdlt o I9Td § &1 2 | I+ I8 Yl Wd | 99 I
e SAUHAREE I W ANG, Mt st 3T off, iR 3§ I wadar W
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION D

(Long Answer Type Questions) (4x5=20)

Evaluate the role of Giuseppe Mazzini in the unification of the
Italian Republic.

OR

Evaluate the role of Otto von Bismarck in the unification of
Germany.

“Manufacturing sector is considered the backbone of development
of the country.” Justify the statement.

OR

“Agriculture and Industry move hand in hand.” Justify the
statement.

Explain with examples the role of democracy in the reduction of
inequality and poverty.
OR

How is democracy a legitimate government ? Explain with
examples.

Explain the differences between public and private sector of
economic activities.

OR

Explain the differences between the organised and unorganised
sector of economic activities.

SECTION E

(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,

a weekly magazine that described itself as ‘a commercial paper open to

all, but influenced by none’. So it was private English enterprise, proud of

its independence from colonial influence, that began English printing in

32/5/1-15
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off BIAT o7 | 3HH IS B Ta S aRd gfee™ J fgaehl T goheHT
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% I T H3-HN THA-IERN DU M | FO RgEarl Wi 0 FTEER Do
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YRR FI77eT 7972 |

(34.1) g JMH Tkl g/ guifed ufSem ‘F7er 792 fopg ot ©

TRITRIA g3 ? 1

(34.2) SV 3TMTEeH Tgaehl T YoheHT T TohaT T/ 2 1

(34.3) 1780 % Tk o SN Tohd @AW k! TicHTed fhIT =T ? 3= oA
TiedTed fomam T 2 1+1=2

35. feuw &g =1 ufew 3t 3ges fi9 feu U ywat & I A .
HHTAT hT TIE0T

AT TR W Faferd qlieh & TEEE TR0 hl gehleld 1968 § #o7e
377 U7 A i | AT 1974 H IHER 7 9 [&dh LT 397 2 |pT | 39
o @@ TiTefiSit o g9 1 T SR TR @ segia i 7 | 1987 § greecis M
e grr afvges T W FEe" WV § qATgR AWeE T T | 59 R
‘Gaq 9o faerE’ (Sustainable Development) 3T T J&qd 3R
THTY TV hi Fehierd i | I8 FAIe a1 H §817 @73 9iasT (Our Common
Future)?ﬁﬁﬁw%w&w%lﬁ@ |sﬂwﬁﬁ@3ﬁr%€r@
ANTEH Tl € S, Seia § 1992 7 ARG geell sred g foram T |

(35.1) Tad Ao faesm 1 319 Tyse i | 1
(35.2) TSie1-21" ol fop TSI TriieH # Telieha Teram T 2 1
(35.3) T o Tehegl 2 IRumHT <hl =T hifvu | 2x1=2
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India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(34.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(34.2) Why was James Augustus Hickey persecuted ? 1

(34.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(35.1) Explain the meaning of sustainable development. 1
(35.2) In which international conference was ‘Agenda-21’ accepted ? 1
(35.3) Explain any two outcomes of the Summit. 2x1=2
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36. Read the given source and answer the questions that follow :
Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(36.2) What are the different types of loans that ‘Krishak Cooperatives’
offer to their members ? 1
(36.3) Why are such cooperatives desirable in the rural areas ? 2
SECTION F
(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(iii) Kandla — Major Sea Port
(iv) Meenam Bakkam — International Airport
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

32/5/1-15

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.
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General Instructions: -

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is requested
that before starting evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them. In Class-X, while evaluating two competency-
based questions, please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( V' ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.

Evaluators will not put right (v')while evaluating which gives an impression that answer is correct and
no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11.

A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12.

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines).

13.

Ensure that you do not make the following common types of errors committed by the Examiner in the
past:- Giving more marks for an answer than assigned to it.




e \Wrong totaling of marks awarded on an answer.

e \Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.
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Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14.

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
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Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16.

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18.

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.




Marking Scheme
Class X -Social Science (087)

SET-32/5/1
SET -1 MM-80
Q.No. Values Points Page Marks-
No.
Section A (20X1=20)
Multiple Choice Question

1 (A) Chancellor Duke Metternich 10H 1
2 (C) Buddhism 54 H 1
3 ©) 1, 1,1V, 32 H 1
4 (B) Rashasundari Devi 124H 1
5 (D) i-b, ii-c, iii-d, iv-a 15G 1
6 (C) Meghalaya 28 G 1
7 (D) Odisha 47 G 1
8 (C) Statements I and Il are true and Il is the correct explanation of | 6P 1
9 (B) State List- Police and Agriculture 16 P 1
10 | (B)Only I, Il and IV are correct 37-38 P 1
11 | (D) It has been made mandatory for all parties to conduct organizational 60 P 1

elections and file income tax returns
12 | (A)Both (A) and (R) are true and (R) is the correct explanation of (A) 51P 1
13 | (C) Nepali 22 P 1
14 | (C) Statements I and Il are true and Il is the correct explanation of | 30-31P 1
15 | (D) The bank saves the farmer from debt trap 46 E 1
16 | (C) Tertiary 21 E 1

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Question No.16.

(A) Primary 20E
17 | (A) Both (A) and (R) are true and (R) is the correct explanation of (A) 20E 1
18 | (B) Removing trade barriers 64 E 1
19 | (A)Primary 25E 1
20 | (C)Only land HI 48 E 1

Section B (4X2=8)
Very Short Answer Type Questions

21 | Why was the Indian subcontinent central to the flow of the trading 54 H 2X1=2

network before the 16th Century? Explain.

(i) The silk routes are a good example of vibrant pre-modern trade
and cultural links.




(i) It connected Europe and Africa in the west and China in the

east.

(ili)  These routes were known to have existed before the Christian

era and thrived almost till the 15" century.

(iv)  Chinese pottery from the east, spices and textiles from India and

Southeast Asia were transported along these routes.

(v) Thus, India lay at the centre of the trade network between these

continents and participated in this trade.

(vi)  Any other relevant point.

Any two points to be explained.
22 | () “Minerals occur in igneous and metamorphic rocks.” Explain the 43 G 2X1=2
statement with example.

(i) Minerals may occur in the cracks, crevices, faults or joints.

(if) The smaller occurrences are called veins and the larger are called
lodes.

(iii)In most cases they are formed when minerals in liquid/molten and
gaseous forms are forced upward through cavities towards the
earth’s surface. Eg, tin, copper, zinc and lead.

(iv) Any other relevant point.

Any two points to be explained.
OR
44 G 2X1=2
(b) “The ocean water contains vast quantities of minerals.” Explain the
statement with example.

(1) Most of the minerals are too widely diffused to be of economic

significance.

(i)  Common salt, magnesium and bromine are largely derived from

ocean water.

(ili)  The ocean beds, too, are rich in manganese nodules

(iv)  Any other relevant point.

Any two points to be explained.
23 | Why was the need for the decentralization recognized in the Indian 24 P 2X1=2

Constitution? Explain.

(i)
(i)
(iii)
(iv)
\%)

(vi)

India is a vast country with a large and diverse population.
Power sharing is essential to accommodate diversity.

There are a large number of problems and issues which are best
settled at this local level.

People have better knowledge of problems in their localities.
They also have ideas on where to spend money and how to
manage things more efficiently.

It helps to inculcate a habit of democratic participation.
Decentralization helps to deepen democracy.




(vii) Itincreases the possibility of direct participation in decision
making.
(viii)  Any other relevant point.

Any two points to be explained.

24 | How have the developments in information and communication 63 E 2X1=2
technology been the major factor to enable globalisation? Explain.
(1) Telecommunication facilities (telephone, mobile, fax) are used
to contact one another around the world to access information
instantly and to communicate from remote areas.
(i) Through the internet one can share information
(iii)  Internet also allows us to send instant email and voice mail
across the world at negligible cost.
(iv) It has played a major role in spreading out production of
services across countries.
(v)  Any other relevant points.
Any two points to be explained.
Section C (5X3=15)
Short Answer Type Questions
25 | (a) Explain the role of women in the Civil Disobedience Movement with | 42-43H 3X1=3
examples.
(1) During Gandhiji’s Civil Disobedience Movement, inspired by
the Salt March, thousands of women came out of their homes to
listen to him.
(i)  They participated in protest marches and manufactured salt.
(i)  Women picketed foreign cloth and liquor shops.
(iv)  Many went to jail.
(v) In urban areas these women were from high caste families; in
rural areas they came from rich peasant households.
(vi)  Moved by Gandhi’s call, they began to see service to the nation
as a sacred duty of women.
(vii)  Any other relevant point.
Any three points to be explained.
OR
47-48H 3X1=3

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the 20th century? Explain with examples.

(1) The idea of nationalism developed through a movement to
revive Indian folklore.

(i) In the late nineteenth century India, nationalists began recording
folk tales sung by bards and they toured villages to gather folk
songs and legends.




(ili)  These tales they believed gave a true picture of traditional
culture that had not been corrupted by outside forces.

(iv) It was essential to preserve this folk tradition in order to
discover one’s national identity and restore a sense of pride in
one’s past.

(v) Rabindranath Tagore collected ballads, nursery rhymes and
myths and image of Bharat Mata.

(vi)  In Madras, Natesa Sastri published a four-volume collection of
Tamil tales called “The Folklore of Southern India”.

(vii)  As the national movement developed leaders became aware of
icons and symbols to unify the people.

(viii) During the swadeshi movement in Bengal, a tri colour flag (red,
green and yellow) was designed.

(ix) It had eight lotuses representing the eight provinces of British
India and a crescent moon, representing the Hindus and
Muslims.

(X) By 1921 Gandhiji had designed the swaraj flag which was a tri
colour with a charkha in the middle.

(xi)  Carrying the flag during the marches became a symbol of
defiance

(xii)  Any other relevant point.

Any three points to be explained.
26 | Describe any three impacts of globalisation on Indian agriculture. G 3X1=3

(i) Farmers are investing in new technology in farming genetically
modified seeds and organic farming.

(i)  They are diversifying from traditional crops to a wide range of
high value crops- horticulture, millets, herbs and mushrooms.

(ili) ~ Small and marginal farmers are adopting inexpensive organic
farming

(iv)  Farmers are exploring new markets outside India.

(v) Agricultural progress for farmers.

(vi)  Insurance schemes for farmers.

(vii)  Any other relevant point.

Any three points to be described and students views to be considered.
27 | Analyse any three challenges faced by political parties in India. 84 P 3X1=3

(1) Lack of internal democracy

(i) Dynastic Succession

(ili)  Role of money and muscle power

(iv)  Lack of meaningful choice

(v)  Any other relevant point.

Any three points to be analyzed.
28 | Describe any three characteristics of the Indian federal system. 15P 3X1=3




()
(i)
(i)
(iv)
(V)

(vi)
(vii)

There are two or more tiers of government. India has a
government at the centre and at the states.

The different tiers of government govern the same citizens, but
each tier has its own jurisdiction in specific matters of
legislation, taxation and administration.

The jurisdictions of the respective levels or tiers of government
are specified in the Constitution.

Fundamental provisions of the Constitution cannot be changed
unilaterally by only one level of the government.

Courts have the power to interpret the Constitution and the
highest courts act as an umpire in case of a dispute between the
different levels of government.

Sources of revenue for each level of government are clearly
specified.

Any other relevant point.

Any three points to be described.

29 | Why has the issue of sustainability become essential for development in | E14-16 3X1=3
present times? Explain with examples.
(1) We would like the level of development to go up further.
(i) Sustainability is environment friendly economic development-
this is obviously desirable.
(iii)  Non- renewable sources will get exhausted after a few years.
(iv)  We need to look for alternative sustainable sources like non-
conventional sources like solar, wind and tidal energy
(v) Reduce, Reuse, and Recycle resources.
(vi)  Use resources judiciously.
(vii)  Any other relevant point.
Any three examples to be explained.
Section D (4X5=20)
Long Answer Type Questions
30 | (a) Evaluate the role of Giuseppe Mazzini in the unification of Italian 20H 5X1=5

republic.

(i)

(i)
(iii)
(iv)

Italy was divided into seven states. Only Sardinia and Piedmont
were ruled by an Italian princely house. The north was under the
Austrian-Habsburgs, the centre was ruled by the Pope and the
south by the Spanish Bourbons.

During the 1830s, Giuseppe Mazzini had sought to put together
a coherent programme for a unitary Italian Republic.

He also formed a secret society called Young Italy for the
dissemination of his goals.

The failure of the revolutionary uprisings both in 1831 and 1848
meant that the mantle now fell on Sardinia- Piedmont under its
ruler Victor Emmanuel I1.




(v) In the eyes of the ruling elites of this region, a unified Italy
offered them the possibility of economic development and
political dominance.

(vi)  Any other relevant point.

Any Five points to be Evaluated.
OR
(b) Evaluate the role of Otto von Bismarck in the unification of 19 H 5X1=5
Germany.

(1) After 1848, nationalism in Europe moved away from its
association with democracy and revolution.

(i)  Otto von Bismarck was the architect of the process of unifying
Germany which he carried out with the support of the King,
Kaiser William I, Prussian army and the landed aristocracy or
the Junkers.

(iii)  Prussia took on the leadership of the movement for national
unification.

(iv)  Three wars over seven years with Austria, Denmark and France
ended in Prussian victory and completed the process of
unification.

) On 18 January 1871, an assembly comprising the princes of the
German states, representatives of the army, important Prussian
minsters including the chief minister, Otto von Bismarck
gathered in the unheated Hall of Mirrors in the Palace of
Versailles to proclaim the Prussian king, William | the Emperor
of Germany.

(vi)  The new state placed a strong emphasis on modernizing the
currency, banking, legal and judicial systems in Germany.

(vii)  Prussian measures and practices often became the model for the
rest of Germany.

(viii)  Any other relevant point.

Any Five points to be Evaluated.
31 | (a) “Manufacturing sector is considered the backbone of development 58 G 5X1=5

of the country.” Justify the statement.

d
(iii)
(iv)
(V)
(vi)

Manufacturing industries helps in modernizing agriculture.
They also reduce the heavy dependence of people on agricultural
income by providing them jobs in the secondary and tertiary
sectors.

Industrial development is also a pre-condition for eradication of
unemployment and poverty from our country.

It also helps in bringing down regional disparities by
establishing industries in tribal and backward industries.

Export of manufactured goods expands trade and commerce and
brings in much needed foreign exchange.

Manufacturing contributes to the GDP and increase in per capita
income.




(vii)

Any other relevant point.

Any five points to be justified.

OR
(b) “Agriculture and industry move hand in hand.” Justify the G 58 5X1=5
statement.

(i) The agro industries have given a major boost to agriculture by
raising its productivity.

(i)  The depend on the latter for raw materials.

(ili)  They sell their products such as irrigation pumps, fertilisers,
insecticides, pesticides, plastic and PVC pipes, machines and
tools to the farmers.

(iv)  Development and competitiveness of manufacturing industry
has not only assisted agriculturalists in increasing their
production but also made the production process very efficient.

(v) Both sectors have created job markets in agriculture,
manufacturing and service sector.

(vi)  Any other relevant point.

Any five points to be explained.
32 | (a) Explain with examples the role of democracy in the reduction of 95P 1x5=5
inequality and poverty.

(i) Promotes political equality by supporting universal adult
franchise.

(i) Enhances the dignity of individuals by recognizing them as
citizens not subjects.

(iii)  Improves the quality of decision making through debate and
discussion.

(iv)  Provides a method to resolve conflicts through an independent
and unbiased judiciary.

(v)  We find growing inequalities in democracies the world over. A
small number of the ultra- rich enjoy a highly disproportionate
share of wealth and incomes.

(vi)  Their share in the total income has been increasing. Those at the
bottom of the society has been declining. Sometimes they find it
difficult to meet their basic needs of life.

(vii)  The Central and State governments have taken many steps to
reduce disparity through different welfare schemes of the central
and state government.

(viii) Reservation has also helped to uplift the marginalised sections

(ix)  Any other relevant point.

Any five points to be explained.
OR
(b) How is democracy a legitimate government? Explain with 98 p 1x5=5

examples.




(i)

A legitimate government is a lawful government formed on the
basis of the consent of the people.

This government is acceptable to the people as they elect the

This government is also answerable to the people and is

Citizens have right to get information about the government and

(i) Citizens participate in decision making
(ili)  Regular, free and fair elections.
(iv)
government.
(V) Open public debates on policies and legislations.
(vi)
responsive to its needs.
(vii)
its functioning.
(viii)

Democracy ensure that decision making is based on norms and

procedures.

(ix)  Any other relevant point.

Any five points to be explained.
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(a) Explain the differences between public and private sector of
economic activities.

PUBLIC SECTOR

PRIVATE SECTOR

1. The government owns
most of the assets and
provides all the services.

1. The ownership of assets and
delivery of services is in the
hands of private individuals or
companies.

2. For example- Indian
Railways, BHEL etc.

2. For example- TISCO, RIL
etc.

3. Governments raise
money through taxes and
other ways to meet
expenses on the services
rendered by it

3. Their motive is to earn
profits.

4. Governments spend on a
whole range of activities at
a low cost.

4. The private sector will not
provide services at a
reasonable cost.

5. Some of
activities/services need
spending large sums of
money, which is beyond
the capacity of the private
sector. Examples are
construction of roads,
bridges, railways,
harbours, generating
electricity, providing
irrigation

5. The private sector cannot
spend large sums of money on
services/activities..

6. Their services are for
everyone.

6. They cannot provide
services to everyone.

32-34E
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Any other relevant point
Any five points to be explained.
OR

(b) Explain the differences between the organised and unorganised 32-34E 5X1=5
sector of economic activities.
ORGANISED SECTOR UNORGANISED SECTOR
1. Terms of employment are | 1. Employment is not regular and
regular and secure. secure.
2. They are registered and 2. They are outside the control of
follow govt. rules and government and not registered.
regulations e.g. Factory Act, | They do not follow govt. rules and
Minimum wage Act, PF, regulations.
Gratuity etc.
3. Their job is secure and 3. Their job is insecure and work
work for a fixed number of | for a longer number of hours.
hours. Paid extra for
overtime.
4. They get several benefits | 4. They do not get any benefits
from their employer. e.g. and facilities from their employer.
medical benefits, paid
leaves, gratuity, provident
fund etc.
5. They also get facilities 5. They do not get any facility at
like safe drinking water, all.
working environment etc.
6. Any other relevant 6. Any other relevant point
point
Any five points to be explained.
Section E 3X4=12
CASE BASED/SOURCE BASED QUESTIONS
34 | Read the following source carefully and answer the questions that 120 H 1+1+2=4

follow:

Print Comes to India
From 1780, James Augustus Hickey began to edit the Bengal Gazette, a
weekly magazine that described itself as ‘a commercial paper open to
all, influenced by none’. So, it was private English enterprise, proud of
its independence from colonial influence, that began English printing in
India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of

gossip about the Company’s senior officials in India. Enraged by this,




Governor General Warren Hastings persecuted Hickey, and
encouraged the publication of officially sanctioned newspapers that
could counter the flow of information that damaged the image of the
colonial government. By the close of the eighteenth century, a number
of newspapers and journals appeared in print. There were Indians too,
who began to publish Indian newspapers. The first to appear was the
weekly Bengal Gazette, brought out by Gangadhar Bhattacharya who

was close to Raja Rammohan Roy.

34.1 In which language was ‘Bengal Gazette’ edited by James Augustus

Hickey Published? 1)
English
34.2 Why was James Augustus Hickey persecuted? Q)

He published a lot of gossip about the Company’s senior officials.
34.3 Which newspapers were encouraged during the 1780s? Why were
they encouraged? 1+1=2
(i) They encouraged the publication of officially sanctioned papers.
(ii) to counter the flow of information that damaged the image of the

colonial government.

35

Read the following source carefully and answer the questions that
follow:
Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again
interpreted by Schumacher in his book Small is beautiful. The seminal
contribution with respect to resource conservation at the global level
was made by the Brundtland Commission Report, 1987. This report
introduced the concept of ‘Sustainable Development’ and advocated it
as a means for resource conservation, which was subsequently
published in a book entitled Our Common Future. Another significant
contribution was made at the Earth Summit at Rio de Janeiro, Brazil
in 1992,

35.1 Explain the meaning of sustainable development. @)

2G

1+1+2=4




Development should take place without damaging the environment
and development in the present should not compromise with the needs

of the future generations.

35.2 In which international conference was ‘Agenda-21’ accepted? (1)

Rio de Janeiro Earth Summit, 1992

35.3 Explain any two outcomes of the Summit. 2
(i) Global cooperation on common interests.
(if) Mutual needs
(ii1) Shared responsibilities
(iv)Creation of the commission on sustainable development.
(v) Any other relevant point

Any two points to be mentioned.

36

Read the following source carefully and answer the questions that
follow:

Loans from Cooperatives
Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a
cooperative pool their resources for cooperation in certain areas. There
are several types of cooperatives possible such as farmers cooperatives,
weavers cooperatives, industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It
has 2300 farmers as members. It accepts deposits from its members.
With these deposits as collateral, the Cooperative has obtained a large
loan from the bank. These funds are used to provide loans to members.
Once these loans are repaid, another round of lending can take place.
Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,

loans for construction of houses and for a variety of other expenses.

36.1 How do ‘Krishak Cooperatives’ secure funds for providing loans

to their members? @

46-48
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(i) It has 2300 farmers as members. It accepts deposits from its
members.
(if) They use it as collateral and obtain large loans from the bank.
36.2 What are the different types of loans that “Krishak Cooperatives’
offers to their members? 1)
Krishak Cooperative provides loans for the purchase of
agricultural implements, loans for cultivation and agricultural trade,
fishery loans, loans for construction of houses and for a variety of
other expenses
36.3 Why are such cooperatives desirable in the rural areas? (2)
(i) They offer cheap credit in rural areas.
(if) Once these loans are repaid, another round of loan is offered.
(iii) Dependence on informal sources of credit reduces.
(iv) They obtain loans from the bank without much documentation.

(v) Any two points to be mentioned.

Section F (2+3=5)
(Map Skill-Based Question)

(@) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the lines
drawn near them.

A. The place where the session of the Indian National Congress was
held in 1920 1

B. The place where Gandhiji broke the salt law.

(b) On the same political outline map of India, locate and label any 1
three of the following with suitable symbols:

(1) Bailadila-Iron ore mines

(i) Namrup- Thermal Power Plant 1x3=3

(i)  Kandla- Major Sea Port

(iv)  Meenam Bakkam- International Airport
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Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 37.

Attempt any five questions.

(37.1) Name the state where the session of Indian National Congress
was held in 1927,
Madras/Tamil Nadu

(37.2) Name the place where Gandhiji broke the salt law.
Dandi

(37.3) Name the state where Bailadila iron ore mines are located.
Chhattisgarh

(37.4) In which state is Namrup Thermal Power Plant located?
Assam

(37.5) Name the state where Kandla sea port is located.

5x1=5




Guijarat

(37.6) Name the state where Meenam Bakkam international airport is
located.
Tamil Nadu
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